log AY/Y)

log (Y/AY)

log (*) LABJNDuO standard lightnessI*

I* Ync=Yw nc=100,

1* L ABaNDu0 =IINIA 17 FAZY)(A 20A 0] (Yad/ 100Y<=Y,0)
I*N(3,6)=219) ,(18)=498 1*\(90)=776

logI* /1* ]
L* =49, I* =498 i
1

1

I* 60=775,82, A= éroo §=1,00,

*16=498,34, . -
3 5=21,17 124 #34 U18 ] appélgatlon
. 1,518

aVn=36  1Yy=90

LABJINDuUO
tristimulus value difference

Yoc=Yw - nc=100,
1% AanDu0 =INI(A 10+A2aV)I(A 20A0n)] (Yn/100<Y<=Yy0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pe5=1,5, Aon,a=1,0, see CIE 230:2019
Yg0=0,53, Ayr=1,000, ¢=1,00

dY;4=0.12, A=0.017, Agn 0,0058
dY3,=0,03 Y,=18, dY=0,12

I*,=498 dY,=0,12 dY,/Y,=0, 0067 _/

LABJINDuO
_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,

%1 ABaNDuO=[IN[A 1n+A2YV)I(A 20A )] (Yn/100<Y<=Y,c)
AYIY=AG A1 +AZYYY
(dY/¥},=0,0059, A=1

(dY/Y}5-0,0067, An=0 ,Ag 0, 00058
(dY/Y}6=L,0105 Yu=1& dY=0,12

10g(dY/Y)E-2,17, m;=-0,1.3 = application
] - my - -7
I* =498 dY,=0,12 dY,/Y, 0,00671
1
'Y,=18

YN=3.6  Yy=90

LABJINDuO
tristimulus value contrast
Yac=Yw - nc=100,
%1 ABaNDu0=[IN[A 10+ A2 Y)I/(A 20A )] (Yn/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dY}o=166,97, A=1,000, ¢=1,00

&
(Y/dY)g=148.27, A=0,017, A,=0,0058
(YIdY} =95 03 218, d=0.12

C,=(Y/AY)

1*,=498 dY,=0,12 Y,/dY,=148

log(Y/dY)2,17, m=0,13 - =

-

application
range

Y,=18
s Yyy=90

3
1
1
1
1
]

log (*/1* ;)

LABJNDUO relative standard lightnessl*/I*,,
e Ye=Yw ¢ nc=100,
u
1%L aganouo =IN[A 17 +ARY) VA 20A 0] (Ynd 100Y<=Y,o)
1*N(3,6)=219 % ,(18)=498 [* ,(90)=776
I*ggf/l* =1,55, Ay=1,000, ¢=1,00

I* 191" =1,00, A/ 0,017, A,0,0058
I+ 3 oI¥=0,43,¥,7498,34 \;=18

log[I*/I* ,]=0, m,=0,33
L* =49, I* =498
application
range

Y,=18

Iog(AY/AY )

MN=36 | Yg=90

LABJNDUO relative
tristimulus value difference
Dy Yoc=Yw - nc=100,
1* L ABINDUO=[IN[(A 10+A2nY)I(A 20A0n)] (Yd/100<Y<=Y,c)
dY/dY,=AgnA 11+AanYI/dY,

dYeo/dY,=4,43, Ay=1,000, ¢=1,0

Y, ¢/dY,=1,00, A=0,017, Az =0, 0
dY3 4dY,=0,31 Y,~18 d\=0,12

o
I*,=498 dY,=0,12 dY,/Y,=0, 0067

log [AYY) I (AYIY),]

LABJNDUO relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,

L agaNDuo =[IN[A 17+A2nV)V(A 20A0R)] (Yd/100<Y<=Y,()

@YIYYAYIY,=(AgiAg Y)Y AYIYY]
(dY/Yhg/(GV/Y)=0,88, Ay=1,000, ¢=1,

00
(dY/Y)g/(dY"=1.00, Ap=0.017, /,=0,0058
(dY/Y%vd(dY/YL-l,SG Y218 dy=0.12

log[(dY/YY(dY/Y),]=0, m=-0,13 1 .
I*,=498 dY,=0,12, dY,/Y,=0,0067 | ?gﬁé‘gaﬂon

log [(Y/AY) I (YAY),]

1y,=18
YN=36  Yw=90

LABJNDuUO relative
- tistimulus value contrast
CrlCry=(YIAV)(YIAY)y v 2y ™ 2100,
L agaNDuo =[IN[A 10+A2nY)V(A 20A0n)] (Yd/100<Y<=Y,0)
(YIAYY(YIAY)=(Y/YIAY L) A oAt A (YIAY),
(Y/dY}g/(YIdY)=1,12, Ay;=1,000, ¢=1,00
(Y/dY)g/(Y/dY)=1,00, A=0,017, AZn 0,0058
(YIdY} ¢(Y/dY)=0,64 Y,=18 dY=0,1

1 application
1 range

1y,=18

Yy=90




